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1, (x> 0)
0(z) =1 1/2, (z=0)
0, (x <0)
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1, (x> 0)
sgn(x) = ¢ 0, (z=0)
—1, (x <0)
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0, (Jz] > 1/2)
rect(z) = < 1/2, (z =1/2)
1, (Jz| < 1/2)
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F(k) = /00 f(x)e ™ dx (6a)
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fla) = [ Pty (6b)
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O(—z) = —B(z)+1 (1)
O(ax) = O(x), (a>0) (8)
sgn(z) = 20(x) — 1 9)
rect( ; :9(1‘—6—1—%)—9(1‘—6—%) (10)
® dw et
o) =il | ST (11a)
o © dw et
o) = lal—lglo _Oo%—erie (11b)
5(t) = ;l—:em (11c)
5(t) = /_ h ;i_:em (11d)
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| @ita = )iz = la—4)—b(a— Bl fl0) (123)
= [0(B —a) — 0(A —a)] f(a) (12b)

/A f(z)0(x —a)dx = O(A —a) /Aa f(z)dx +6(B — a)/ f(z)dx (13a)
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/AB F@)0(a— 2)dz = 0(a — A) /A f(x)dz +6(a — B) / f@)dr  (13b)

/:: =2 [sgn r+1) —sgn(r — 1)} (14a)
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= % rect (;) (14c)
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V@ - [ [ [vie—w f(k’)dk] .

21 o

UAVEL b R

E. JU)—VBE%
[5—; — aaa—;} Gz, t; 2" t") = 6(x — 2")o(t — 1) (17)
Gl i ) = 9(;;? [9((;5 ')~ a(t ~ 1)) ~6(( ') + Valt - t’))] (18a)



